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Opwghpp  Opbtunhp L gnpéwnhp dwpdhtiubp, whnwlwt unwwpnud
Pwdht 01 funudp 1 nwu 1 dpughp 51
Uwpwtiptilip 9339536,20
Spwubljwlwiht Wnipbp b wyhnnypubp/ hnndwé 4261/, nphg 454025
30197622 @nunp /A4 $npiiwinh (21x29.7) uu nnuh 156 1550 241800
30197231| @ npuiywtiul wnihdbpuwht punuilip, $uy uu hwwn 1300 8,00 10400
30197232| B npwuywtiwl / wpwquljwp, ppjw uu hwn 160 60 9600
30197234| @ npwwwliwl / prpwwwliwl Ynoin Guqdny uu hwtn 88 620 54560
30197235 @ npuwwwtiwl wipwyny uu hwtn 30 150 4500
30192121|qppy / qunhlywnp uu hwn 175 25 4375
30192128|qph / qlipuyht uu hwn 125 80 10000
30199420|@ninp ynulubiph hwdwp/ unubidudpny uu hwin 88 140 12320
39263200 qpwubitywlwiht ghpp, dwnjul uu huwin 30 700 21000
30197321|yuiphs (utntiytip) uu hwn 10 650 6500
30192710 ynutidwd hun, qpuwublywlwihu uu hwwn 30 140 4200
30197220| @ nph wiipwlutip(uljpbiy) uu wnuh 20 120 2400
30192136 |unnhun qpuhhint shentjny uu huwin 66 30 1980
30197111 Yuwphsh danwnwiwpb Yuwbip/ tnpp uu unuh 70 50 3500
39292510{ puyunt, uywunhly uu hwwn 20 100 2000
30192114) B uwwp, Yuhph pun&hlh hwiwp uu hwtn 10 120 1200
30141200} wpduiuuinp (yuynyunnp) gpusubitywluhl L fuiin L 1850 18500
39263510 Ubinuuwily (4hwu) / thnpp uu hwwn 50 10 500
39263520 Ubindwly (Ythuju) / Sheht uu hwwn 80 18 1440
39263530 Uil (hugu) / utd uu huwn 70 25 1750
30192100) vtanhiy hwuwipuily uu hwtn 28 50 1400
30192133 g unnpuwljuit uu hwin 15 60 900
30197332| il pulinting (dhsht) o Eos 2 2000 14000
39241210 yiypun / Spusublywljught uu hwin 9 200 1800
22811130 Shunp 24 ko uu hwn 40 120 4800
30192160 punuinpustynie / snphlu uu hwwn 20 180 3600
30234300{cp phuly uu huwin 70 100 7000
30234400{pvD phuly uu hwn 20 140 2800
31440000|upunlyng' 1.5V uu huwin 40 130 5200




Spwuwnpuuwght tynpbp/ hnndwé 4264/,nphg 8416601,20
34330000 |Uynnywhbunwiwubip uu npwd 1 1000000 1000000
09132200|Phughti ntigniywp Lus (pp 12000 410 4920000
09134200 | thabjwht uwnbihp(wiwnwhl) ' Eus lhwp 3268 425,000122 | 1388900,40
09134210 Hhabywht Yunbihp (Edtnwght) Eus (hwp 2332 475,000343 | 1107700,80
Yktigwnwjht L hwpwjht ubinh Ynipbp/ hnnywé 4267/, nphg 139230
39831241)|06win / stinph uu hwn 90 80 7200
39836000 Uty uu hwiwn 6 800 4800
33761000 2niquipwih pninpe /_nnyntiny uu hwtn 230 75 17250
33761100 2niquipwh pnine uu hwwn 24 650 15600
39812600 yninwhwunn heng uu huwin 10 980 9800
39812600|Uwppnn uhong Raxsha uu hwwn 12 250 3000
39513200|Ubinwuh pnph wuatinnghl tpllipn uu hwn 270 100 27000
19641000| Mnihtiph{buwhl nwpwlubip,wwpl wnph hwd uu huwtn 30 300 9000
39835000|<wnwl dwpphint &nn uu hwwn 3 900 2700
39831246 <tinmy obwn uu hwn 30 280 8400
39221410{ Uyl gnquiphwlh htn annny uu huwin 6 1500 9000
39811300{<mnwiqtipinhy/nliqnnnp/ uu hwwn 20 450 9000
39812410} Ywhnyph thwjibiguwl heng uu huin 8 500 4000
39221490|Uwynitiq uwilihnwpwhhqliuhl tpwtiwynipju uu huwtn 20 100 2000
39831242} \wgph thngh Skinpny (Ywlwint hwidwp uu Ug 3 180 540
39514100} pyypwlyw Juhbjwldwl fuwynin upphgliin uu hwn 8 330 2640
39831283 Cunnwly dwpphynt gnp uu hwiwn 9 500 4500
39522330 Uwppnn lwnpltip uu hwun 28 100 2800
Cwnnntl tyuinwluights wy) bynipbp/ hnnywé 4269/,nphg 329680
31531300{Unwuinwnh L5 jntuuwnnid 84 uu hwin 8 1550 12400
31651400 Utalyniuhg dwuyunjbtitbp uu hwn 50 160 8000
31531300| “4wfundh th L& uu huwn 10 1000 10000
31321190 blblmpuiljuts g’ 2*40d uu d 100 320 32000
31321190 kbYnpuwiljuils (wp' 2°2,504 uu d 100 220 22000
31512360 |Lnwwpdwlubp L5 50 gun uu hwtn 10 5000 50000
31531300 | Lwduy’ tynund,65-854 uu huin 50 1900 95000
31531300 Lbn (wiyy 174 uu hwwn 30 1500 45000
44411110|nh &npwl hwluu uu hwn 5 1500 7500
44411120{9nh Snpuwly, 2 thwy uu hwwn 3 3500 10500
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22111200{qptp uu huin 4 5000 20000
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Eubpgbnply dwnwynipynit/hnnpjwé 4212/, nphg 5000000
65311100 tiblwpwluitinipjul pusgfunud uu npwd ! 3000000 3000000
65211100 |quigh puipfunud uu npwd 1 2000000 2000000
Unuiniuw] Swnwynipntt/hnnyjwé 4213/, nphg 460000
65111100||udhLm onh puighunud uu npwd 1 460000 I 460000
LYwuh Swnwynipiniu/hnnywé 4214/, nphg 1152000
64211120 | hopwnuipwyhl htinwfunuwihl Swnwjnipjniitn uu npwd 1 840000 840000
72411700 | pnuibliwghl widwunuiubp uu huin 2 12000 24000
72411100 | hnuwnhg. Swnwynipjnil uu wihu 12 5500 66000
72411100 |punbiptibin uu wihu 12 8000 96000
72411100 | ptwnbiputivn /Nipwuwp/ uu wihu 12 10500 126000
72411100 | ptwnbiplitin /Mwplwnpynipy/ uu wihu 12 10500 126000
Uwywhnyugpulwh dwnwynipinit/hnnyws 4215/, nphg 180000
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70131100 990000 990000
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72511100 | ybunpnls <4 16500 198000
L e ::j&:#::nlf:wu hwidwlwpgguwyht Spwgph Ubapypnudwht tgingh Ul i 1 250000 250000
Ubpbuwbph b uwppwynpnudubph pupwghly tnpngnud b .
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30192121 Sphs / qunhlwinp (L4US) uu hwwn 50 25 1250
30192128qphy / qlyuwhu(RUUS) uu hwwn 30 80 2400
30192136|Jwnhwn gpwhhints dhoniyny (LHUS) uu huwin 21 30 630
30197232| @npwuwwliwl / wpwqulup, prejw(@4US) uu huin 30 60 1800
30197235| @ npwuwt U wipwyny(R4US) uu hwn 20 150 3000
30197234 Rnpwywiwl / pnpwwwlwl Yngin Yuqiny(L4US) uu hwwn 12 620 7440
30192100 nthinpt hwuwpuly(R4US) uu hwwn 10 50 500
39241210}y ypwin / Spwublywljughu(R4US) uu hun 2 200 400
30199420) @ninp tpnuiutiph hwiwp/ unubigywdpny(L4US) uu huwin 12 140 1680
30197622|@nunp / A4 $pdwinh (21x29.7)(RUUS) uu wnuh 26 1550 40300
30197111 Yuiphsh dnwnwiupt Ywwbp/ thnpp(R4US) uu wnup 12 50 600
Ubugwnuyht b hwupwht ubtinh Wynyebp/ hnnywés 4267/, nphg 30000
39831241 [<tinnuy obwn(L4US) uu huwtn 14 280 3920
39836000|Ubi(P4US) uu hwn 2 800 1600
33761000|2niquipwlh prine /nnyntiny/(R4US) uu hwin 60 75 4500
39831283 Cwinwly dwppbine onp(L4US) uu huin 2 500 1000
39513200|Utinwih pnpll wudkinnghl tplztipwn (L4US) uu hwtn 70 100 7000
19641000) M htiphbuwht nnupuwly.wwpl(@4US) uu hwwn 6 300 1800
39812410 Yuhnyph thuybigiwl hong(LYUS) uu hwn 4 500 2000
39221490 yyniug/uwtihinwpwhhg . (RYUS) uu huin 6 100 600
39221410] Uyl gnquiphwlih htn(R4US) uu hwwn 2 1500 3000
39514100 | Pudpwlyw Juibwbd fuw.upp(RYUS) uu hwwn 6 330 1980
39811300 <nunwqlipinhg/nliqnnp/(R4US) uu hwtn 4 450 1800
39522330 wppnn Ynnpubip(R4US) uu hwn 8 100 800
Quwwnnil byywinwlught wyy ynpbp hnpyws 4269 40000
31531300 |Unwutnwnh  LE% |nwwnnil84(R4US) Uu huitn 8 1550 12400
31685000 bpYwipwigiuwi ywp 8 plibin(R4US) uu huwin 2 3000 6000
39721500 blbyupwljwl nwpugnighy/wjhunw/(L4US) uu huin 2 10000 20000
31684400 Hwpnuwly(R4US) uu hwtn 4 400 1600
Ownwynipynitiiip 272000
Lwwh dwnwynueiniti/hnnywé 4214/24US, nphg 220000
64111200 | Pnutnwihll Swnwynipgnitiibn’ Yuiwywd Ywdwlubph htn uu npwd 1 60000 60000
64211120 Uhg.pmrlwpwmh hbnwfunuwht dwnwjnipjniutibip uu npwd 1 160000 160000
Ubpbuwubph b vwppwynpnudubph pupwghly tnpngnud
wwhwwnui/hnnywé 4252/, nphg 52000
Swynn uwppbiph pwpephgutiph (hgpwynpmd (R4US) uu hwwn 13 4000 52000
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Cwdwlwpgswihtl swnwynipynitubp/hnnyws 4232/, nphg 259200
Swugh Yunwlwpdwl dpwgpuiht wwwhnddwl Swnwynipniuubip
72211125)(ORACL' gnypwhwplh U hnnh hwplh uywuwpynu) e ity s 21600 59200
Upwghpp Cunhwunip punyph hwtipwht Swnwjnipynittbp (wy) pwubpht swywnljwnn)
Pwdht 01 junwip 6 nuu 1 dpwghp 51
Ownuynipymbbbp 3727700
Uniniiw)| Swnwjnipyniutibp /hnnywé 4213/ 3197700
98371120 | Hhpbquwbiwintibph uwwuwplluwl Swnwnipjnity K npud 1 I 3197700 | 3197700
Uwutiwghnwlwt dwnwynipjniiuin/hnnywé 4241/,nphg 530000
Qwidwjupwhu ubthwywunipnit hwunhuwgnn hnnwdwutiph, 2kuptiph,
71250000 2htunipjniutitinh swithwgpdwy (hwpwnduwl), pupinbqugpniejut uu npwd 1 450000 450000
qlinntighwjh U hnnwhtwpwpnpjw, h Yugdiwl Swnwjnipjnit
791311001 pulwt & nipynilb uu npwd 1 80000 80000
Upwghpp  Unpwhwtinud
Pwdhti 05 fjunuip 1 nuu 1 dpughp 51
Ownuynipynibbbp 24200000
Undnitw| Swnwjnipyniibp /hnnywé 4213/ 24200000
g0511100|Ytntithwlwywy fungnpugyws hwdwjuph Yhugwnuiht wnpwhwnipjul b qc nf;wd 1 24200000 24200000
uwbhinwpwlwl dwppdwl dwnwnipjniiibin
Opwghpp  Tpgwlw dhpwywiph wwynwwnipyntt (wj) pwubipht swwinlwlng)
Pwdht 05 funudp 6 nuu 1 dpwghp 51
Upuunputiptlp 7000000
Undnitiw] Swnwynipynibbp Zhnnywé 4213/ 7000000
77311600 | Unbithwlwwl hwdwjuph ubwswywndwl wafuwnwuplbp q< npwd 1 7000000 7000000
Upwghpp_ Pnnnglibiph intuwynpnud
Puwdhti 06 funuip 4 nuu 1 dpwghp 51
Dwnuwynipynbiibp 12668000
Eubipgbnhy Swnwynipiniu/hnnywé 4212/, nphg 11084000
65311100 | yiljnpuljwtingpjuits pupfund uu npwd ! 9500000 9500000
Cunhwunip punyph wj) Swnwjnipyniuubp /hnndws 4239/ ,nphg 1584000
Unbthwuwywy hwidwjuph puwnwpwiht imuwynpnipjwt wynndwn < npwd 1
71311290 | unwuwpiut hwiwlwpgh uywuwpliwl & itk 1584000 1584000
Upwghpp Swquwnh b uynpinh Swnwynipjniiibp
Pwdhu 08 funuip 1 nwu 1 dpwghp 51
Uwypwipubip 485000
Qpwubljwluwht tympbp W hwgniun /hnnpdwé 4261/,nphg 485000
03121210 [ownlwjht Yndwnghghuwtip uu hunn 56 5000 280000
03121200 |Swnhlutp uu hwwn 100 250 25000
03121210 |Ownybwyuwlubp uu hwwn 12 15000 180000
Uppuunpuiiplip 229800
Stnbjwuwnywlwt Swnwynipymtbp /hnnwé 4234/,nphg 229800
98311160 | Sniuwinp nwjwapnipjniiibin uu hwwn 90 600 54000
22311100 | Uiwinpjw pughlubip uu huin 200 500 100000
22311100 |Uwipwnh 8-h hwdwp pwghlubip uu hwwn 141 300 42300
22451190 Uwypkiuh (aiquh op-wywinyngpbip uu hwwn 62 500 31000
22451190 | <nlywbiiptiph 1-hu nnwpbigubiph op, 2unphwlwiwgpbip uu hwn 5 500 2500
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